
SBL 0302 Salon Bridgekerho

2023-09-06  Rabbit 6.9.23 Lopputulos
5 pöytää, 10 paria. Jakomäärä: 21. Keski: 84.

Sija Pari Pisteet % Nimi VP J-ID Kerho

1 1 111 66,1 Jyrki Happonen - Janne Holmqvist 5 1393 1387 Salon Bk
2 7 108 64,3 Jaakko Salo - Merja Mölsä 3 2981 2839 Salon Bk
3 6 96 57,1 Janne Blomqvist - Outi Yrttiranta 2 2840 2746 Salon Bk
4 8 88 52,4 Jari Hilska - Sari Kanerva 1883 3369 Salon Bk
5 5 85 50,6 Riikka Sajaniemi - Tuomo Sajaniemi 3184 2979 Salon Bk

6 2 81 48,2 Hanna Ruska - Liisa Sievänen 3185 3183 Salon Bk
7 4 73 43,5 Arja Niskanen - Aki Saarela 2956 3373 Salon Bk
8 9 69 41,1 Tanja Leander - Matti Alanko 3305 2736 Salon Bk
9 3 68 40,5 Katja Kvist - Teemu Kvist 3370 3371 Salon Bk

10 10 61 36,3 Jaakko Viima - Matti Rintala 2080 3024 Salon Bk



SBL 0302 Salon Bridgekerho

2023-09-06  Rabbit 6.9.23 Lopputulos
5 pöytää, 10 paria. Jakomäärä: 21. Keski: 84.

Pari Sit LK Tulos Pisteet
Jako:  1

10 5 4 E -1 6 50       8 0
4 2 2 W +1 3 -110 6 2
7 9 4 E = 2 -130 4 4
3 6 2 E +1 2 -140 2 6
8 1 1N W +3 3 -180 0 8

Pari Sit LK Tulos Pisteet
Jako:  2

7 9 4xx W -4 9 1600       8 0
4 2 4 N = 8 620       5 3

10 5 4 N = A 620       5 3
8 1 4 N -1 8 -100 2 6
3 6 3 S -2 8 -200 0 8

Pari Sit LK Tulos Pisteet
Jako:  3

3 6 1N S +2 3 150       6 2
4 2 1N S +2 8 150       6 2
7 9 2N S +1 8 150       6 2
8 1 3N S -2 J -100 2 6

10 5 6Nx S -2 6 -300 0 8

Pari Sit LK Tulos Pisteet
Jako:  4

5 3 4 S +1 3 650       8 0
9 1 4 S = K 620       6 2
8 2 3 W -1 10 100       4 4
4 7 3 W = 10 -140 2 6

10 6 5x S -1 K -200 0 8

Pari Sit LK Tulos Pisteet
Jako:  5

4 7 2 W -1 Q 50       6 2
8 2 2 W -1 Q 50       6 2

10 6 2N E -1 5 50       6 2
5 3 2 W = 10 -110 2 6
9 1 2N S -2 4 -200 0 8

Pari Sit LK Tulos Pisteet
Jako:  6

5 3 3N N +2 5 460       8 0
9 1 4 S = 7 130       6 2
4 7 3N N -2 9 -100 2 6
8 2 5 S -2 7 -100 2 6

10 6 3 S -2 7 -100 2 6

Pari Sit LK Tulos Pisteet
Jako:  7

2 9 4 N -1 A -100 4 4
5 1 3N N -1 2 -100 4 4
6 4 6 N -1 A -100 4 4
8 3 6 N -1 A -100 4 4

10 7 5 N -1 A -100 4 4

Pari Sit LK Tulos Pisteet
Jako:  8

2 9 3 E +1 6 -170 7 1
6 4 3 E +1 8 -170 7 1
5 1 2 E +3 2 -200 4 4

10 7 2 E +4 5 -230 2 6
8 3 4x E = 3 -590 0 8

Pari Sit LK Tulos Pisteet
Jako:  9

6 4 4 N +2 J 480       8 0
8 3 4 S +1 J 450       6 2
2 9 4 S = K 420       3 5

10 7 4 S = 6 420       3 5
5 1 2N S = K 120       0 8

Pari Sit LK Tulos Pisteet
Jako:  10

6 2 6N S = Q 1440       8 0
8 4 6 N = 3 1370       6 2
9 3 3N S +4 10 720       4 4
7 5 3N S +3 2 690       2 6

10 1 6 N -2 9 -200 0 8

Pari Sit LK Tulos Pisteet
Jako:  11

7 5 3 N +1 9 170       8 0
8 4 2 N +1 6 140       6 2
6 2 2N N = 3 120       4 4

10 1 2 N = 4 110       2 6
9 3 3 N -1 4 -50 0 8

Pari Sit LK Tulos Pisteet
Jako:  12

7 5 1 W = 2 -80 8 0
8 4 3 W = 2 -140 5 3
9 3 1 W +2 A -140 5 3
6 2 1 W +3 2 -170 2 6

10 1 4 W = A -420 0 8

Pari Sit LK Tulos Pisteet
Jako:  13

2 10 1 S +2 K 140       8 0
1 6 1N N +1 3 120       5 3
7 3 1N N +1 5 120       5 3
8 5 1N S = A 90       2 6
4 9 1 N = A 70       0 8

Pari Sit LK Tulos Pisteet
Jako:  14

8 5 3N N = A 400       8 0
1 6 4 S +1 2 150       4 4
2 10 3 S +2 6 150       4 4
4 9 3 S +2 2 150       4 4
7 3 1 E -1 8 50       0 8



SBL 0302 Salon Bridgekerho

2023-09-06  Rabbit 6.9.23 Lopputulos
5 pöytää, 10 paria. Jakomäärä: 21. Keski: 84.

Pari Sit LK Tulos Pisteet
Jako:  15

2 10 2 S = 7 110       8 0
7 3 4 E = A -130 6 2
1 6 3x S -1 A -200 3 5
8 5 4 S -2 A -200 3 5
4 9 4xx S -2 A -1000 0 8

Pari Sit LK Tulos Pisteet
Jako:  16

1 4 3N E -1 3 100       6 2
8 6 3N E -1 4 100       6 2

10 3 2N E -1 3 100       6 2
2 7 1 N -1 A -50 2 6
9 5 3 N -3 A -150 0 8

Pari Sit LK Tulos Pisteet
Jako:  17

8 6 2x N = K 180       8 0
9 5 3N S -2 7 -100 5 3

10 3 3 N -2 4 -100 5 3
1 4 3 N -3 A -150 1 7
2 7 3N N -3 4 -150 1 7

Pari Sit LK Tulos Pisteet
Jako:  18

8 6 6 E -2 Q 100       8 0
10 3 Pass 0       6 2
1 4 4 W = 2 -420 3 5
2 7 4 W = 6 -420 3 5
9 5 4 W +1 2 -450 0 8

Pari Sit LK Tulos Pisteet
Jako:  19

8 7 4x N -3 K -500 8 0
6 9 5 W = A -600 6 2
2 5 3N E +1 6 -630 4 4
3 1 4 W +1 A -650 2 6
4 10 3N E +2 8 -660 0 8

Pari Sit LK Tulos Pisteet
Jako:  20

4 10 1 W -2 4 200       8 0
2 5 3 N +1 A 170       5 3
6 9 2 N +2 6 170       5 3
8 7 2N S = 7 120       2 6
3 1 2 S = 6 110       0 8

Pari Sit LK Tulos Pisteet
Jako:  21

4 10 2N E -2 6 100       8 0
6 9 1 E = 6 -70 6 2
2 5 1N W = 7 -90 3 5
3 1 1N W = 8 -90 3 5
8 7 1N W +1 7 -120 0 8


